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PreCalc Basics Test
score

1. If f(x) is a linear function f(2)=1 and f(4) = -2, then flx)=

/"N 3 3 3
W) f@=-2x+a W] f=Tx-2 9 fW)== w2
3 2 7
=—x—4 xX)=—-—x+— - -9
W f)=2x K fx)==Tx+ 2 e 26D 3
2-1 -7
2. Give the approximate location of a relative maximum point for the function

f(x)=3x3+5x2—3x.
(-1357,5.779) b) (02457, —03908) <)  (-1.357,5.713)

d  (0.2457, —03216) )  (-1.357, —0.3908)

3.  Find the polynomial of degree 3 whose zeros are (—3, 0), (%’ Oj and

(2, 0) and goes through (1, -2).

a) g(x) = (x + 3)(2x = 3)(x = 2) b) g(x) =-2x+3)(2x - 3)(x-2)
c) glx)= %(x +3)(2x -3)(x-2) (@ glx)=- %(x +3)(2x = 3)(x-2)

e) g(x)=2(x+3)(2x-3)(x-2)
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4. Find an equation for the line perpendicular to y = —2x + 3 that contains the

point (=7, 0). _o= L )
Yy-“-=
1
a) y=-2x-7 b) y=—x-7 ©) y=-2x—-14
’ - 1 7 1 7
) y=ox+g e) y=5xT5
-0 -0+ 0 -
5. Given this sign pattern B >;, which of the following

x =5 0 L)
might be the equation of y =f (x)? (

EvanN

@‘rb)

a) f (x)= x(x + 5)(x— 7)
b) flx)=x(x+5)(x-7)
PR f(x) =x(x+5)(7-x)
) 1(x) =x¥x+ S “))
) flx) = —x3(x+5)°
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6.  Find the remainder when y = 48x> —72x% +45 is divided by 4x - 3.

a) 0 b) 27 ¢ 27 d) 18

(o) -18

ELE

e
-32 O HA =
3¢ -13 ,ﬂ
48 - -1F+ 4 ,1,7_



P

i P )(L—J
1}

7. Solve (x2+3x—2)(x+5)20. % < B'SL, &
- ~) .

a) [-5 —3.56] b) [0.56,) ¢ [-3.56,0.56]

@ [—5, —3.56]u|:0.56, oo) e) None of these



Honors PreCalculus 2022-23 Name: Socumis.d ((é, )
PreCalc Basics Test 3
Round to 3 decimal places. score

Show all work.

Use zlour §raph1ng calculator to find and sketch a complete graph of

f (x)=—-x +4x% —8x — 3. State the window used, find the zeros, and the
extreme points.

Window: & E"’Ll."(-'}} 3&{-(9‘(5/1
Zeros: (—n,(,ﬁ'o) (’.3$’§,D> (l,{&ﬁ"‘)\ (3.‘14010)
Extreme Points: 6,‘,1, f;%‘i)
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2. Find the zeros of y =21x*+47x%- 59x2—27x + 18 by calculator and prove it
by synthetic division.
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3. A field with an area equal to 2000 square yards in partitioned as below.

A B

W

D JQ C

[NB. AC and BD are hypotenuses the right triangles that comprise half the field.]

a. State the equation needed to minimize the amount of fencing to be used.
2
Fz20 4204+ Zg,ﬁ”ﬂ)”
b. State the secondary equation needed to eliminate the extra variable.

,eu\/ > 2000

& Eliminate the extra variable in the equation needed to minimize the amount
of fencing. _ e
z L ( 200 | ot 200\ ?
Fa2d+2(5 y+ 2l
d. Find the minimum amount of fencing.

Mo (L’M,?u, 308, 3 74\

Mid Cotive = 365.33F ymas



4. Use synthetic division to find f (—%) if f(x)=10x>-5x+3.

ijéJ lo 6 ~¢ 3
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2472
5. Find an inequality that has this sign pattern and solution:
flx) |~ 0O + 0 +0 -

i<_4 T (4 o149

— (x-rw{s»«&’@»ﬂ >0

6. Show the sign patterns for
y=x3 (x—S)3 (x+1)2
\l + 0 ““ ® — O —
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y=—4(x-2) (x+5)(x+1)’




7. Show the sign pattern and solve 21x*+47x3 - 59x2—27x + 18 <0. (Note:
This is the polynomial from #2 above)
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8. Show the sign pattern and solve 2x3-3x2-32x+482>0
X (zx-3) - 16 (2 -3)

(x+4) b (2nd) S0 >+
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